?erpudi clar 3 Angle Bisectors (Sccﬁm §-2)

+ Perpendionlas Bisechor Thevrem: [fa point is on aL-bisech
of asegmant  then it is eguidistant fiom He end-pfs.

4& Cex: E P LAB and mA =mB then PA=PB
k B

s Comvese of L Bisector Theorem: |£ PA=PB, then “m LA and

MA = mB
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Find lalﬂx of TM. X=3

X ﬁdgl{ Bisector Thesyem: I a podat ison the bisechsr of an uglc,
Huon Hhe pont is epuidistant fiom the cides ot fhe
augle.

F
ex: If B bisecks <PRE ¢ 5P L6P 4 30 LGB,

Q
Hun SP=SR

R

% Convuct ﬁA@kB&c&wﬂm: If sPLBP, ﬁJ_a"E,MLSP%R,
Hien BS bisects < PR
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X=3 — FB~=

Find x, ET,S-'—M.
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X +1 =X /1
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Indirect Pot [ Section 8-5)

* Writhy an Indivect Pioof « (D) Stale as a Jempovary assumption
e opposite (Mda,hﬁv\) of what
JN want fo prove.

@ Sheo Hat this temp. assumpttin beads

Jo a contradichion.

B Conclude that the femp. assumption
hwstbe false $ what ym want fo
provt st be Hue.

A1 ,
ox: At lenst one angle 1€ obtuse. §= m<2> 90
Assume femp. } no< isobtuse. Asswre Mpﬂwl* m<2<90

x To write an indirect proof, yox must be able 1 idmﬁ‘{y N
Condradichion. |
+2
oy T: €ach of the 2 itms Vubnglt’c coct move Han 410.
e Vel spent #34 fov the 2 ifems.
T : Neither of the 2ems Hhat Val bmgkt tost move Han €1,
(snhadiction : I # IC

#4

ex: Inright AABC, m<A= 0. T
In ”ch AABC, <AZ<C —~ 1T
In right AABC, m<B =90~ IC

*&’: GNth: 7(xvy)=T70 ad ¥#4 (1) Assume w y:b,#tm
Prove: y£0 7 x+b) =70
X+ 6 = 10 @

x=1) but s controdicfs
x4t
B - y#b.

Conhadichm: I $ILC.



oy Given: ALMN
Prwe: ALMN has atmost ome rght alyle,

(D Assume femp. that ALMN has more Han ove Pight aygle.
(<M 3 <N are 6[0") | "
m< +mzN = 180°  This would make ma[=0.
(® This means Hhae & no ALMN which erwhadick “fhe gven
o Hhe femp. ascumphion vt be blee. & ALMNE)

has at mest e hyht m}jle.



